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1. MBPSOHEE

MBPS (Multiple Base Polynomial Sieve)
DFATT—
QS : (xtk)’=s-x+t (mod n)
sxHERBEETH#E
MBPS: (x+a)(x+b)-f(x)=v(s x+t), f{(M)=n
x+a,x+b,s xHEBRIEE TH fiE
EUf@E—RKXDEREL
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2R MDDBPSIZ& %55 DFIE
(1) 2REAE(x)=Ax2+Bx+CEM(f(M)=n) DETE
(2) RHEEDZETE La,bDEFRTE

(3) A Mta,A, MtbEHRBEETHHEL., DETE.

abZ S5BWTEMA, CSTUAA=ALT B,

(4) A;"M+a,A, M+bH 3 TELL, [a bV S
DEEEBEHRLTIREEICER
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f(x)= Ax>+Bx+ CT
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(b) [EIFECHEDEBHA AEZFEHAL
AlZA=A A LN RTED,




22 RPBEEDETE

RHERETTRICKYEET D
() BEELUTORMZERTEE
Q) -1BFRYBEEKEICINZD
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g(x)=(A xFa)(A, x+b)-f(x)=v-(s"x 1)
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BELLGDH20,
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(2) g(x)=(A,xta)(A, x+b)-f(x)=v(s-x+t)
TABWEITL, F—Ds x+ T, vHE
Y M OsxHORBEE THEINA
Wbom,

2.5 g(x)=v(sx+)5THEIZ LD 5D
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BRI sEEE 2L sFEXEER
g(x)=(A, xta)(Ay x+b)=v-(s:x+t)
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2.6 SHWERDITHIER
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4. DBPSIZ& A 55\l

HEXR
n=>55751MD R R
f(x) =2x%-27

f(M) = 0 (mod n), M=167
(2x+a)-(x+b) — f(X) = v'(s-x+t)
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(1) RBEE: P
23FTORME-1D101E
P=1{-1,2,3,5,7, 11,13, 17, 19, 23}

2) IXRRXEE: B(EHEETHESRT)
M+b R U2M+adk ) 5{E 2 5
B = {M-3, M, 2M+1, 2M+3, 2M+5}
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f(x) =2x%-27
g(x) = (2x+a)(x+b) — f(x)
=Sx+T=v(sxtt)
S=a+2b, T=ab+27
v = GCD(|S|,|T|)-sign(S)
s=S/v, t=T/v

4.3 (2x+a),(x+b)DETE

(1) |a|,[b|ASEBIZILLTER R

(2) 2M+a, M+b DR ERPTH
a={9,-4,-2,2,4,6,8,9}
b={7,-6,-5,-2,1,2,3,4,8,9}

3) IRKEE
B1=M-3=164, B2=M=167, B3=2M+1=235
B4=2M+3=237, B5=2M+5=239
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hovstZaetE
g(x)=(2x+a)(x+b)-f(x)=v-(s-x+t)

(2) S|PV TS S5BDLMRIEICAND

(3) sxHMIRKXBEIC—HT 5D
sMHORFEETHEINTS

RAEEENO.IZBEEEAND)

17
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2(X)DIRE sM+t sM+t D JEJEE i At SR
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1 0 4 8 27 1363

2 0 3 6 27 1029 32M+9)=37" 1
3 0 2 4 27 695

4 0 1 2 27 361 19° 2
5 0 0 0 27 27 3’ 3
6 0 -2 -4 27 -641

7 0 -3 -6 27 -975 -3(2M-9)=-35"13 4
8 1 4 9 31 1534

9 1 3 7 30 1199

10 1 2 5 29 864 23 5
11 1 1 3 28 529 23 6
12 1 0 1 27 194
13 1 -2 -3 25 -476 -2 747 7
14 1 -3 -5 24 -811
15 1 -5 -9 22 -1481
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4.5 3BLDBIR(3/4)

16 2 3 8 33 1369 33 4 -3 -2 15 -319
17 2 2 6 31 1033 34 4 -5 -6 7 -995
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47 | 0000000001111111111222: FEES10)
2| 1234567890123456789012: FIRES()
14 | 0000101000010100000000 :FEEIT1
15 | 0100101011011010000000

16 | 0100101010011001000000

17 | 0100101011011000100000

18 | 1100101011011000010000

19 | 1100101000011000001000

20 | 0011000011000000000100

21 | 0101101101011000000010 ,_ _

22 | 0101101011011000000001 :REREFT9
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(1) #EE1T1: 5,7,12, 14

() EE172: 2,5,7,9,10,12,13,15
(3) EE173: 2,5,7,9,12,13,16

4) EE1T4: 1,3,17

(5) ®ETS5: 1,2,5,7,9,10,12,13,18
(6) EE176: 1,2,5,7,12,13,19

(7) ®E1T7: 3,4,9,10,20

(®) #E1T8: 2,4,5,7,8,10, 12,13, 21
) EE179: 2,4,5,7,9,10,12,13,22
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ABWNERDITHDS,7,12,141TDEHREE
RUOIRABEETCERZERT S,

D EE . B1=164,B2=167,B3=335,B4=337,
B5=339TC#% %,

EBIZEOARF HBIFEDODARXTEZEDS,

(3-132-335-339)2=(24-72-17)? (mod 55751)
BN, 133282 = 133282 (mod 55751)

55 BRETD a2=p2

(1) 133282 = 133282 (mod 55751) : B BAfZ
(2) 240422 = 11024 (mod 55751)

(3) 114772 = 18242 (mod 55751)

(4)  27*°=27* (mod55751) : EBAfE
(5) 240422 = 11024 (mod 55751)

(6) 114772 = 18242 (mod 55751)

(7) 130412 = 130412 (mod 55751) : B BAf#
(8) 240422 = 11204 (mod 55751)

(9) 240422 = 130412 (mod 55751)

5.6 RO ERER

HEAfETHWLB DT

(1)(5)(8)(9) : 240422 = 110242 (mod 55751)
GCD(|24042-11024|, 55751) = 283
> 55751 =283 X 197 E#H R

(3)(6) : 114772 = 18242 (mod 55751)
GCD(|11477-1824], 55751) = 197
> 55751 = 197 X 283 L E 5> R




